4.1 Radian and Degree Measure (Day 3)
In Geometry you learned:

Arc length = 

Since the whole circle is ______ radians, if you are given an angle in radians,

Arc length = 

______________________________________________________________________________

Ex. Find the length of the arc given:

(a) r = 10 cm, Ө = 90°




(b) r = 7 in., Ө = 
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______________________________________________________________________________Ex. Find the radian measure given  r = 18 cm and  s = 9 cm.

______________________________________________________________________________

In Geometry you learned:

Area of a Sector = 

If you are given an angle in radians, Area of a Sector = 

______________________________________________________________________________Ex. Find the area of the sector of a circle with:

(a) r = 6 in, Ө = 
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(b) r = 10 cm, Ө = 
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_____________________________________________________________________________

Ex. Find the distance between two cities if

      latitude of city 1 = 
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and latitude of city 2 = 
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      and the radius of the earth is 4000 miles.  Assume the cities have the same longitude.

	Homework:  P. 292: 79 – 94 all, 107
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